
11099 11099.5 11100 11100.5 11101
cyclenum

1

1.5

2

2.5

3

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

3.5−

3−

2.5−

2−

1.5−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

8300

8300.5

8301

8301.5

8302

8302.5

8303

8303.5

8304

ru
n

run:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 8302}



11099 11099.5 11100 11100.5 11101
cyclenum

76−

75.5−

75−

74.5−

74−

us
l_

1X
usl_1X:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

7−

6.5−

6−

5.5−

5−

us
l_

4a
Y

usl_4aY:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

8.6

8.8

9

9.2

9.4

9.6

9.8

10

10.2

10.4

10.6

10.8

us
l_

4e
X

usl_4eX:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

24

24.5

25

25.5

26

us
l_

4e
Y

usl_4eY:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

38.8−

38.6−

38.4−

38.2−

38−

37.8−

37.6−

37.4−

37.2−

37−

36.8−

36.6−

us
l_

12
X

usl_12X:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

8300

8300.5

8301

8301.5

8302

8302.5

8303

8303.5

8304

ru
n

run:cyclenum {run == 8302}



11099 11099.5 11100 11100.5 11101
cyclenum

117−

116.5−

116−

115.5−

115−

us
r_

1X

usr_1X:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

6.5−

6−

5.5−

5−

4.5−

us
r_

4a
Y

usr_4aY:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

168.6

168.8

169

169.2

169.4

169.6

169.8

170

170.2

170.4

170.6

170.8

us
r_

4e
X

usr_4eX:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

19.2

19.4

19.6

19.8

20

20.2

20.4

20.6

20.8

21

21.2

21.4

us
r_

4e
Y

usr_4eY:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

39.4−

39.2−

39−

38.8−

38.6−

38.4−

38.2−

38−

37.8−

37.6−

37.4−

37.2−

us
r_

12
X

usr_12X:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

8300

8300.5

8301

8301.5

8302

8302.5

8303

8303.5

8304

ru
n

run:cyclenum {run == 8302}



11099 11099.5 11100 11100.5 11101
cyclenum

16834.5

16835

16835.5

16836

16836.5

us
l_

co
il1

usl_coil1:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

2381.5

2382

2382.5

2383

2383.5

us
l_

co
il3

usl_coil3:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

5140

5140.5

5141

5141.5

5142

us
l_

co
il4

usl_coil4:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

3039.4−

3039.2−

3039−

3038.8−

3038.6−

3038.4−

3038.2−

3038−

3037.8−

3037.6−

3037.4−

3037.2−

us
l_

co
il6

usl_coil6:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

2867.5

2868

2868.5

2869

2869.5

us
l_

co
il7

usl_coil7:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

8300

8300.5

8301

8301.5

8302

8302.5

8303

8303.5

8304

ru
n

run:cyclenum {run == 8302}



11099 11099.5 11100 11100.5 11101
cyclenum

14949−

14948.5−

14948−

14947.5−

14947−us
r_

co
il1

usr_coil1:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

1981.5−

1981−

1980.5−

1980−

1979.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

4946

4946.5

4947

4947.5

4948

us
r_

co
il4

usr_coil4:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

3062.4−

3062.2−

3062−

3061.8−

3061.6−

3061.4−

3061.2−

3061−

3060.8−

3060.6−

3060.4−

3060.2−

us
r_

co
il6

usr_coil6:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

34174.6

34174.8

34175

34175.2

34175.4

34175.6

34175.8

34176

34176.2

34176.4

34176.6

34176.8

us
r_

co
il7

usr_coil7:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

8300

8300.5

8301

8301.5

8302

8302.5

8303

8303.5

8304

ru
n

run:cyclenum {run == 8302}



11099 11099.5 11100 11100.5 11101
cyclenum

135.4−

135.2−

135−

134.8−

134.6−

134.4−

134.2−

134−

133.8−

133.6−

133.4−

133.2−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

10.5

11

11.5

12

12.5

1X
_c

oi
l3

1X_coil3:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

248.5

249

249.5

250

250.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

235−

234.5−

234−

233.5−

233−4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

25.5−

25−

24.5−

24−

23.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

256

256.5

257

257.5

258

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 8302}



11099 11099.5 11100 11100.5 11101
cyclenum

293.6

293.8

294

294.2

294.4

294.6

294.8

295

295.2

295.4

295.6

295.8

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

109−

108.5−

108−

107.5−

107−

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

44−

43.5−

43−

42.5−

42−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

273.6

273.8

274

274.2

274.4

274.6

274.8

275

275.2

275.4

275.6

275.8

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

138.5−

138−

137.5−

137−

136.5−4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

37.5−

37−

36.5−

36−

35.5−4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 8302}



11099 11099.5 11100 11100.5 11101
cyclenum

239−

238.5−

238−

237.5−

237−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

90.5−

90−

89.5−

89−

88.5−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

8.6

8.8

9

9.2

9.4

9.6

9.8

10

10.2

10.4

10.6

10.8

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

6.5

7

7.5

8

8.5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

524.5−

524−

523.5−

523−

522.5−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 8302}

11099 11099.5 11100 11100.5 11101
cyclenum

8300

8300.5

8301

8301.5

8302

8302.5

8303

8303.5

8304

ru
n

run:cyclenum {run == 8302}
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